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#include #include #include #define STACK _INIT_SIZE 10 #define
OK 1 #define TRUE 1 #define FALSE 0 #define ERROR 0 struct
student/ Y0 0000000000000 0OO*{intcarnum.
char lendbook[10]. }student[1000]. struct employ /*0J I [ O [

LI */ {int employnum. char employname[15]. int employage. char
employsex[2]. char employleve[10]. long int employtage.
}employ[50]. struct book /*[ [ I 0O O OO */ { int booknum. char
bookname[10]. char bookcreat[10]. int turefalse. /*0J 0O OO U OO [
DO000000000000u0d* book[1000]. struct car /*
00000000 *{int carnum. char studentname[10]. int
studentclass. }car[100]. huanbook() /*00 OO OO I */ { FILE *fp,*fp2.
/O0000000O0fpROOO0O0O0O00O000000O00
O 000000 * inti,n. int carnum. char lendbook[10]. printf("
0000000 0N\N"). scanf("%d",amp.car[i],sizeof(struct
car),1,fjp)!=0.0) Afor0 U D OO OO O OO*{
if(car[i].carnum==carnum) /0 0 00 0O 0O OO O O O * {n=l.
fclose(fp). printf("U D O OO OO O OO O\N.
scanf("%s",lendbook). fp=fopen("record.txt","r").
for(i=0.fread(amp.student[i],sizeof(struct student),1,fp)!=0.i ) {
If(strcmp(student[i].lendbook,lendbook)==0) { continue. /*J 00 [
00000000 * } fwrite(amp.student[i],sizeof(struct
student),1,fp2)!=0.1) { fwrite(amp.book[i],sizeof(struct



book),1,fp)!=0.) 00000000 0OO0OO0OOONOMO
00000000 0*{if(i==n) { book[i].turefalse=1.
fwrite(&amp.book[i],sizeof(struct book),1,fp2). /AU 0O U 0O O O [
OO00000000*continue. }100Test D O O 0O 0O OO O
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